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o.si#AbsoteyCowgen- by Definition
A Done . Not necessary

to analyze 0.5 .

as . É.cz?In.enn-
④ terms

, Ent¥;
RT "

[ˢ"↳¥1 :÷t÷:
"

52

=e÷É¥¥, -

lnlntl) @ +3) !

(2n

=E%e¥ = ◦ 4

⇒ 0.si#beyUnwgentbyR.T.



%
④ him
→ %÷É÷%÷iÉ+×÷¥÷!¥: ii.÷:*

[
r Divide ¥-1

a

66 . §.fi?I:Y- ⊕ gboth !

RT .

⇐ ÷:la÷t÷:¥÷÷t
= lim
n.

^

¥ :P
extra@to

\ explode ☆ E

=¥%%:÷ .

'
-

- a - i

⇒ O - S .Di by Ratio Test

④
67. {⇐"¥

,

_ É¥,≈ ± Diverges. Harmonic

n= ,
must p- series p= I

[CT order on Bounds not helpful]



2^0%-51
E.• ¥÷Y=:÷+Én=¥%¥%=4①bn=y >◦

Finite
,
Non- Zero

②limbn-bi.TL#+z&-- °n -70 ⇒ASges by LCT

↳ Not A. c-

③ Terms decreasing ↳ Testas .

µ, ,¥,,≤ ¥,.s.aw!by AST✓^

4h47

!
""=¥→ ° ""#É" ↳ """""°"

↳ 1-4×1=(-4×4+-3)
⊕

Warning : Remember to stateC.c.byanyn.ie#

68 . £ (n ! )3e2h

②n) ! -

n
"

n=i¥

÷¥¥¥+.
Rit .

" ¥:/%÷tE:¥;f⇔"



n→•

⑨ +D !/ 3= aim

#
'e÷;i¥*
^→④⇒p¥4

=÷¥¥¥i÷:X:÷⇒÷.
= him
"" " ±

.

÷

5
extra Intl )

= dim makes ↳ 0

n-we-sla.nl#-- 04
⇒ 0.5 . by RT .

69 . §
,

H1gtann_ É%T ≈ 2¥ converges p-series
must

p=> > I

not RT.

¥
. eimara-ann.nl?-%)now

=
eim aruÑi¥¥◦=-%
U -3 N



Finite,
Non - Zero

of (our.

[
unit "" "%E± -

""

] ⇒agesbyut[%¥⇒≤¥÷≤ -1¥, / P- series

is low
.

⇒ 0.5 .T by Definition

70 . [ (3N) ! n
"

n-t-8.hn
R -T.

÷ "÷t÷
""µ

(!⇒⇔Ñ3#
no (3n
ii. ⇔"

= him (zn+É3n+i)% "

n→•a+i+j¥¥
= him
a. • ¥1 ti¥É¥E=÷ -1

note e≈ 2.718 - -
-

8e< 24 ⇒ 27 > see
⇒ 0.5 .Ds by Ratio Test



" E⇔n÷÷É÷≈Éi÷=Én÷n' 1- 3
n=l

Converges p - series
p=4 > I

let limit

£4

÷: ÷⇒=e:m "

E. =÷TF→=in -1N

⇒ A. s . also Converges by LCT

⇒ o.s.lt#eyonwgent by Definition

" É
.

R -T -

@+ 1)
""

- 4h". Intl) I÷1¥t÷ f
n
"

. 4h in !

=÷ i÷;¥÷x
*) ÉÑ É



0.*
-

- ein + .

n→ a

2 / =3-14

= him. ¥e - 2✗É¥n#=¥e=¥ > 1

←
I 2.718. - .

⇒ 0 . S -Ds by Ratio Test

or RT.

%
* I÷%=¥%e¥÷÷¥÷¥÷i¥÷¥%¥¥:*

org use
"

Divides by
"

Trick


